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2005 10 JBP 3 6 1 [2.7.4] 2 [2.5.4]
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KC#609-2



JBP 3  6 2 [2.5.4]
1 n2 10 n3

[3.2.3]

DNV
6

40  ( 400kN)
 lc=1.2m

D=1.5
AH32

sRy=0.9x235/0.78=271N/mm2

s1=500mm s2=850mm 2
ls=2.4m

av g/2



1 [2.7.4] Ca=Cr=1

tk 5.4mm

DNV

1



DNV s1=500mm 3

D>2s

D



b1/b (b-b1)/b

b1



plastic

As,req As,act shear 1

Afl,act

b=0.15m



16.7

shear 1

15-20% 507-540

b=0.15
b=0.3m 23.86mm

2005 10 JBP 3 6 1 [2.7.4] 2 [2.5.4]

W=40 1.2m 1.5



(s=850mm) Wreq,net (cm3) treq,net (mm) 

490 14.75
DNV 870

540* 25.11** 

*
** b=0.15m

78

y=300
wplastic/welastic
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